5.3: Solving Rational
Equations



A. What are the solutions of tharatlonal equation?
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G. You ride your bike to a store, 4 miles away, to pick up things for dinner. When there is no
wind, you ride at 10 mi/hr. Today your trip to the store and back took you 1 hour. \Q/_flgt
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H. A boat goes 240 miles downstream in thefsame timzit can go 160 miles upstream. The

speed of the current is 5 miles per hour. What is\the speed of the boat in still water?
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I. On the first four tests of the term your average test score was 84%. You think you can
score 96% on each of the remaining tests. How many consecutive test scores of 96% would
you need to bring your average up tc /for the term?
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J. You can wash one window in 15 minutes and your sister can wash one window in 20
minutes. How many minutes will it take to wash 12 windows if you work together?
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K. One pump can fill a water tank twice as fast as a second pump. Working together, the two
pumps can fill the cistern in 5 hours. Find how long it takes each pump to fill the cistern
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